
[image: image1.jpg]6. A stationary car with a mass of 1500 kilograms reaches a velocity of 15 meters per second o
seconds after starting. What is the car’s acceleration? How much force was required to reach
this acceleration?

'
7. An astronaut has a mass of 50 kilograms. F

a. How much does she weigh before liftoff?

b. When her space vehicle is 6400 kilometers above the earth’s surface, she will weigh one
quarter of what she weighed on the earth.

(1) What does she weigh at that point in space? «

(2) What is the acceleration on her mass at that point in space?

8. A 7000-kilogram plane is launched from an aircraft carrier in 2 seconds by a force of 350,000
newtons. What is the plane’s acceleration? What is the plane’s velocity?
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